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{ " PART =
. 3 EE?'I’H.RA_I..ENTELLI-EEHEE
mﬂl:hﬂnﬁmm.lmhﬁndm
odd number / leners /i ! i,
: from the given aliematives, T T T &l v EjﬂI
" y (A) {H)
b 184 {Ixy
| @ (A) (B) L) i)
] Directions : (Question Nos. #9) Wh
b L {A) AZBY : “_‘M.Ef*mmwmmnud&]mmirl.i::
'-'.;‘ B CXDW pven lesters (o make meaningful words 7
i C) GTHR & () Charseter
' () EVEU {2 Sty
(3) Editing
i
1 (A) BCDF ::5; ::]ldlnm
(B ABIO (A) 1,23.4.%
%, O GHTK (B) 41,2513
_-i-__.l'-h]-l_ D) RNWY C)-1,4.3,2%
ks~ : @} 4,1,2,3,5
} 4L (A} B (B) 28 %. (1) Yum
() 126 64 (@) - Plat
5 0 (3)  Sarce
i, 4 o
B LA Mo n::-; cmn
. (B} 33-91 (A) 2,1,4.5,3
] fC) 28 -4 By 2,4351,13
.. . (D) 2011 iy 2,4.1,513
ol D) 1,2,3,54
SPACE FOR ROUGH WORK
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Directions : (Question No, 10) Which one
set of letters when sequentially placed at the
gaps i the given letter series shall complete
i?

10, -ab_a_bab__bbabb _
{A) bbbhaa
(B) ababhbb
{C}) aabaab
(D) bbaaba

11 A senes of figures is mven which can
be grouped ino classes. From the
responses, select the groups info which
the higures can be classified :

I 2 3 4 5
AUSE DTS ¥ 5~y
o 7 X Q9
Ao E®
(A) 124|369 | 578
(B) 157]248 369

(€) 136|257 140
(D) 269|257 142

Directions : (Question Nos. 12 1o 15) A
sertes is given with one teem missing. Choose
the correct altemative from the given ones
thit will complete the series,

12. NOM.OPN,PQO,?

13, 62,57,68,52, 74,47, 80, 4
(A) 41,83
(B) 42,86
(C) 43,85
(D) 46 88

14, Question Figures

OO

©
AnswﬂF#‘um_y :
Qlalala

(A) (B) {€) (D)

15,  Question Figures :

HREE

Answer Flgures ;
HRRE
(A)

(B) &) (D)

Directions : In Question Nos. 16 to 23, sclect
the related letters / word / number / figure
from the given altematives.

16. den: lon : ; coop : 7

{A) RQP (A) duck
(B} 0QP (B)  swan
(Ch QRP (C) hen
(D) RPO (D) deer
SPACE FOR ROUGH WORK
112MN2 CA-201041
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19,
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Anamhy:l.awlcsxmss..;\naemin:? 2L, 3:28::5:9
(A) Fearlessness (A) 179 (B) 126
(B) Colourlessness (© 124 (D) 125
(C) Shapelessness
(D) Bloodlessness 22, @ 121 :@: 1
(A) 89
Optician : Eyes : ; Geriatric - ? W %
(C) 225
(A) Young ©) 209
(B) Needy
(C) Old Age 23,  Question Figure
(D) New Bom lglg’gr ?J
BYDW ; FUHS : : AZCX : 7 Answer Figures
(A) EVGT g @ @ {
{B) FVGT
A ) (C) D
(©) FVHT W w2
(D) EVHT 24, In a row of boys. Sachin is 21* from the
left and Rahul is 12 from nght. On
3 lnu'n:hang)'ni their  places, Rahuyl
BOQD : ERTG : ; ANPC : 7 becomes 17° from right How many
boys are there in a row ?
(A) iF
s (A) 36
{B) FSHU ) 8
D) DSQF (D) 35
SPACE FOR ROUGH WORK -
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5. A after amiving w a place
Jppausiment on Susday, found that he
wis 3 days carlier than “B” who was 2
duvs late, If A had reached there on the
following Thursday. how many doys
caly or late would A huve been

(A 2 days earfy
1 2 days lare
() 3 days lse
(1 4 days early

26. o 4 aroup of 26 persons, 15 like tew
white 18 like coflee, there is none who
dishikes bath, The number of persons
who dike both tea and colfee is

| Directions : In Question Nos. 28 to 30, select

the  missing
altomatives,

i5 48
47 62
A 5
By 6
7
8

)

(D)

number  from

e B R N

12
33
35

the given

(Al 9 19
By 7 l
<y 5
]
D) (B) 24
IC) 42
Directions @ In Question No. 27 (rom the ) 36
Ziven allematives, select the word which
cannol be formed using ihe lelters of (he
wiven wised 30, 12 {40)
51 (36)
27, ENGINEERING 67 (M
(Al GINGER (A) 24
(Ri ENGINE | (B} 20
(") NEARER [ ) 18
(D RING oy 12
. ~ SPACEFOR ROUGH WORK
112 MN 2 8
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3t H3r3+3=6,20T7+3=27,1+3+8

G then what will be the value of
|«3.G"

DY I |
1) S
WY u
1)) >

32 I — wiands for addition, + for division,

lor - maltiplication and x  for
subtrocton, then which of the following
mooneot
(A) 0 349+4_2=15%
By 6+ 3 9xq442=10
1) 6+349_4x2=20

N 0 I%x93442=-17

33 Amwone the four answer figures, which

one ean be formed from the cut out
preced pven below in the quession
frgure

M.

Directions : Four views of a cube ure
given below. Study each view and
answer the guestion given below them,

Question Figures

Qulesnon 2 In Ptgjm 1, \:hu'h symbol is
below the square [_] 2

Answer Figures
DEQE

(A) (B) () (D)

How many triangles are there in the
given question figure ?

7
liﬂ! (A) 10
o (B) 8
Aldlals © n
1Al (B (C) (D) D) 14
= * SPACE FOR ROUGH WORK
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Directions : {Question No, 36) A pece of
paper 18 folded and cut as shown below in the
question  figures, From the given answer
figures, indicate how it will uppear when

opened.

36. Quesuon Figures

)
H

Answer Figures

NF—= r-o
& L)
< N OO

(A) (B) ) (D)

37. A iransparent sheet with a pattern s
given, How the pattern would appear
when the sheet is folded ar the doted

! lines ?

Question Figure

Answer Figures

(e 8] ] 2]

(A) (B) () (D)

Directions : (Question No A8) In the
following diagram, rectangle represents Hindi
Announcers, circle English  Announcers.
Square French Annogncers and tnungle
represents German Announcers, Study the
diagram.

i 3
s
A3}

38. Which area represents those announcers

who can present programmes in Hind,
French and German only 7

(LY
(B) 2
(€ 3
(D) 4

39. Which of the followmg  cormectly
tlustrate the relationship among the
classes :

Camot, Food, Vegetable

112 MN 2 12
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Directions : In Question Nos. 40 to 41,
which unswer frgure will complete the pattern
in the guestion figure ?

40.  Question Figure
———————

¥ :K
| m[w@]m
) (D)

(A) (B (C)

4L Queston Figure

Y|
‘J

Answer Figures

(A) B)  (©) D)

Dircetions : In Question Nos, 42 10 43 from the
given answer figures, select the one in which
the question figure is hidden / embedded.

42, Question Figure

43,

45,

Question Figure

4

Answer Figures

iRl

(A) (B) () (D)

If the fctters given below are amanged
o form a sensible word, what will he
the last letter of the word 7

LIBNARI
(A) R
(B) L
(C) N
)y 3

Sunjay is standing facing south. He
walks 10 km straight, tums night and
walks another 10 km strasght, tms left
and walks 10 km straight and, finally
tums left and walks 5 km to resch a

F,—] hotel, Which direction is he facing
4 now ?
Answer Figures . (A) North
P= ' (B) South
: ‘{& ~ E@ (C) East
A B  © (D) West
SPACE FOR ROUGH WORK

112 MN 2

CA-2010.1

www.SarkariExam.com



http://www.sarkariexam.com/
http://www.sarkariexam.com/

el
S

www.SarkariExam.com

46, A and B stant together from one paint,

47,

They walk 10 km tfowsnds nomh A
tarnz lefll and covers 5 km whereps B
tams Aght and covers 5 km. A tares left
agan @nd covers 15 km whereas B
parns Aghd ond covers 15 kme How (o
%A fmmmB 7

{A} 1Ekm
(B) 10km
{C) Skm
(D) Bkm

L

i “PRICE™ is coded as 1] 9 18 24 23,
then HIGH is coded as

{A) 193015 19
B} 17182017
Cy 8978

(D) 191520 |9

If ‘EMICATHON' i coded o
iDIC1T3 4N bow can
"AUTOMOBILE be coded T

(A 15ST4M4B3L2

B) 14TIM3IBILS

€] 2US010314E

MLy 31 TIMIBALS

one | o

commmioniy

stnbeminiy.
4%, State

{A)
i8]
i)
L)

S, Siate

{A)
()
()

0

DMrections 1 In Question Mos. 49 and 50,

stotements ae given lollowed by

rwn conchusions / Assumptions T and 11, You
have o consider the two slalemens o be e
even i they seem o be # vonsnce from

known faces. You have 1o decide

which of the mwen conclusioss |
Assumptions, if any, follow from the given

ments : 1. Al players me
ecipcaied,
I Al  ecducsied mE
culivred So

Conclasionst 1. AN players  we

culiured
I Al caltured persom
Hre plavers
Only 1 follows.
Cinly 11 (odlows,
Both 1 and [T follows,
Medther [ nor 11 Follows.

menk @ Educatton  of  the
masses boads o
steady loss ol the
hold of case in the
sciely.

Assumplions s 1. There s a  dires

relation Letwem
educanonal (1=11
and |J.E-|:I|=F||4:N:"E af
CRIEISML
1L Casteism can make
considerable
contribution 1o
HOCIETy.
Omly assumption [ is implicic
Cnly mssurmsption 11 ix imphicit.
Both  assumptions 1 [ s=
imphicl.
Meither asssumpica [ nor If o

mplicit

SFACE FOR ROUGH WORK
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PFART -1
ENGLISH LANGUAGE

Directions : In Question Nos. 51 to 55,
goine of the sensences have errors and some
have none. Find owt which pam of a
sentence has A ervor and  blacken the
rectangle | Bl | correspoading o the
uppropnate lester (&, B, Ch If there is no
ermor,  backen  the  rectongle [N ]
correpending i (13} in the Anseer Sheet,

§1. The Secretary ond the Manager
(Al

goes 1o London next week, Mo emmor.
{H] (Ch {0

2L | sugpgest you 1o become an engincer.
[A) () L

N0 Crvor,

(o)

53 The courses in an aumohosmous college

(A

are different from i IO s oolle pe
hhd

{ ihe f
gn sulonomous ciHlege.
{C

Mo exmaor,
1oy

54, TIH:EEWH.’. LITRATINITIC LS

LA (B}
in the Ventict, Mo error,
() o
55, You will ke suspendhed unless you
{A) (B)
oo nat pay your fees. Mo ermor,
() )

112 MM 2

18

57, My aisser

MMrectlons ¢ In Cuestson Mos, 56 1o 60,
EEntences are gives with blanks to be filled
in with appropriate words, Four slternazives
are: suggesied for each question. Chones the
correct alternative out of the four and

indicase it by blackening the appropriate
rectangle MM in the Answer Shoel

56 Hesat ____ the tahie, writing a letier.
WA) sl
(B} ove
() by
(D) at

— me whes 1 was ill.
(A)] called on

(B} called out

Ty callsd off

() called in

58, The putienl was 5o by the soft

music that he cooperated with the
docior in spite of scute pain,

) camed over
(A}  carried away
(C}  cammied on
(¥ camied out

CA-2018-1
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http://www.sarkariexam.com/
http://www.sarkariexam.com/

www.SarkariExam.com

FART -11
ENGLISH LANGUAGE

Diirections @ In Question Mos. 51 o 55,
swme of the sentences have erors and some
have none. Find owt which pamt of a
sentence has an sivor and  blackem the
reciangle | Bl ] conesponding o the
appropaate letter (A, B, ©) Il ihere iz no
emw,  Macken the rectongle [ )
corresponding o (13} in the Answer Sheet,

51. The Secretary snd thes Munoger
LA)

goes b London next week, Mo crior.
{H} (D (T}

5L | sugpsst yop to become un enginocr.
(A (B} (3

Mo emar,

(o)

BN, The courses in an aulonogsous cullege

(A}
are different from o non-smonomous colle pe
(B}
because of the freedom allowed o
20 siicnomous college.
i

ST, "
i)

&

4. The jury was unanimoats

CA) (1)
im the Vendict. E_E__mq
(Ch (L)
53, You will be muspended  unless vou
{A) (B}
oo ot pay yiour fees. Mo error,
() ¥

112 MM 2

Directions 1  In Question Mos. %6 to &,
BEMIERCES ofe given with blanks to be Glled
in with appropriste words, Four alternatives
nre suggesied for cach question, Choose the
cormect aliemative oul of the four and
indicate it by blackening the appropeiate
rectangle (I in the Answer Sheel

56 Hegsat _____ the table, wiitlag o letter,
L) BoroRs
(B} over
(C)} by
D) at

&7, My sister mie whin 1 was ill.

(A} called on
(B} calbed out
Iy called off
(D) colled in

58. The putient was 85 by the soft

music that he cooperated with the
docior in spiie of acute pain,

(A} camed owver
(B}  carried gway
i€} camied on
M corced out

CA-Z0010:1
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84. T A A W S e R B8.. Wm
bl (A) #5w
(A) SR T
(B) = © sew
(D) oy
wiges e
85, *® WA wmrews Tl et
B} (A) m
o (B) %=
3 (B) = & v
- €) wgA ol
(D) foram
. 90, wegw
‘ A) i
& ford : vy s 86 @ 90 ¥ it wekw we W '
| w7 foreis G 3 fore A e s (B) wiw
' ¥ 1 o e w v Wi B o (€ wir !
. ; e 7 s v it | i
- D) =
86, Iva
i oY Fordo : e w91 ¥ 98 & et g vl T
& o i e ol g B g
(B) wam W e o feeg F we W o T
‘ © Fam W Y T aw-gfere F avew W
®) v i
8. wa 91. Imrity
. (A) %ni " (A smEm .
' . (B) = (B) s
h € (C) Ay l
- (D) wFwy (D) smeviw : |
11ZMN 2 R CA-2010-1 ;
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(A}
(H}
()
(1))

A
; (B)
(<)
)

: (A)
1
k\ (B}
| ()

()

FART =M
GENERAL AWARENESS

106. Earth is protecied from ubtrs—vinlet

101, SQL in Compuler Science stands for

Sorted Query Language
Swuctured Quick Language
Srructored Query Languape
Structued (husck Lainch

102, ‘Which of the following is pot & pant of
the processor of & computer 7

ALL

L
Hegsiers
RAM

” 102. Rotation of crop is essential

for incressing the quamtiy of
muneruls.

for incressing the quaniity of
[l'ﬂmilll.

lor pettng different kinds of
Taps

for increasing 1ke fertility of the
i,

] 1. The mujor compoaent in CNG is

(A}
(B)
ic}
(1]

ethane

propanc
busame

mcthane:

108, World Bnvironment Day is celebrated

o
(A}
(B}
L8]
)
112 MN 2

Juns §
February 28
Movember 14
Tuly 15

107,

108,

Lt

radintion by means of

(A)  Caygen loyer

M}  Ozone fayer

Cy  Microgen nver

{0} Corbon dioxide lover

The highest policy-making body i

natianal planning i India is

(A} Adminisirative Refoom
Comemission

(B) Finssce Commission

(T Infer-State Counsl|

(D) Notonal Development Counedl

Which one of the fellowing is an
example of fixed cost 7

(A} Prnee of r2w material

{B)  Fuel and power charges

£ Rent for building

(1) Wage for casual labour

The principle of populsiion was
propounded by

A} Cardener

(B} Odum

(Ch  Darwin

(D Malthus

The public, privale, cooperative and
N sectors exist in g

(A) Mixed economy

{H)  Socialist sconomy

{(C) Communist economy

() Capitalistic sconomy

] CA-2000-1
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g

112

113

114,

11s.

www.SarkariExam.com

The Smie which smade fird in
sollware NP Iromm [nafig iz

(A} Msharashirs

(B Tamal Nadia

Ty Karnataka

(D) Andhra Pragdesh

Funchayats were given constitutional
siatus by the
the Constitution,
(A} 75
(B) T4™
o M .
oy 72

The President can declare o natonal

EMETEEBEY on

{A)  his own

(B)] ihe written recommendation of
the Prirme Minisier

(C) e basis of the report of ihe
Grovemor of o State,

(D) the written recommendation of
ihe Lnwon C.Hai!'p:d.

Sarkaria Commissbon wes set up for

reviewing the relofions belwesn

iA}  Centre and Siates

(B} Legsloture and Exscutive

(C}  Executive and Judiciary

) The Prime Minisier and the
President

Tur raise: & discussion in the Foose on o
matter of wurgent public imporance,
which motion is used 7

(A} Censure

(B}  Adjowmnment

(C)  Calling attention

(0 Cor miotions

112 MM 2

amendmenl to

(RS

117,

118

s,

120,

Who spoke in Hindi for the first time
in the UNO General Assembly 7

{A}  Indira Gandki
(Bi P.V. Narasimhs Bao
(C) Al Bihan Vajpayes
My Rajiv Gandh

How many expeditions did Babur lead
b occupy Delhi 7 ‘

(A} Three
(B} Four
(iC} Five
D) Six

Which one of the following
dame in the wodd 7

(A} Quwiat-ul-Islam Masjid
(B) Gol Gumbaz

(T Jwmat Khana Masiid
(Y Alsi Darwasa

During whose reign Fa-Hien visited
India ?

{(A) Sd Gupa
(B) Samixiragipta
(€} Chandsagupea |
(D)  Chandragspea 0

Thex akave king who gol the titke “Lakh
Maksh’ was

(A)  Diatmidh

(B)  Razia

) Omtbudin Ajbak

(D} Balban

CA-2010-1
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122

124,

125,
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Who was the fiest Indian soldier 1o
refuse touse the greased curtridge 7
{A} Noma Saheb

iB)  Bahadur Shah

i) Mangal Pundey

{0 Tantia Tope

Vasee da Gama discoversd ses roube
|

{AY N America

(A 5 America

(Ch Indi

(1) Australin

Tapti fiver riscs in
Al  Easterm Cihal
(B}  ‘Westem Gl

MaUnIRInE.

(T} Satpura
(D) Vindhya
The -mojor goul of the Green

Rewvedunon has been o

(A) Decrease the wse of modern
fwrm machinery,

{B) Decrease Population growdh,

{C)}  Increase agricalpom] outpu,

(M Increase the nomber of
traditsomal forms:

The world"s mast imponiant renewahds
ENEFEY FESOUTCE it

(A} Naotral vegetation
B Waer

() Solar radistion
(M) Tidal waves

TE2 MM 2

1246,

117

-8

129,

13,

The largesi number of Cotion
Weaving mills are localed in

(A} Tomil Madi
(B Utiar Pradesh
(C)  Maharsshirs
D} Cujoral

Hihemation phenomencd 18 ssliced m
(A} Cosmonauls

(B} Aviuns

Ty Mammalians

(M) Amphdbisns

Denpoe it n

(A} wiral infection

(B} fungal infection
(Cy  becwrial mfeciion
() protozosn infection

Coclroaches, prowm:  omd -;Tlh
prissEEs

(A)  Simple eyes

[y  Compound eyes

{C}y  Paristal eyes

)] i"«l'nl::.rl::

Bio-diesel, u kind aof non-cenventicnal
somgce of esergy. which i3 ohtpinsd
Trom

{A} Sugmrcane

{B) Jatrophg
{C)  Casor plant

(D} Mustard plam

CA-200i-1
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131, Photosynilsesis oocurs 136. The tides in the ocean are due 1o
(A} onlyin leaves A Wind over the Goeans
(B} only in stems (B} Gruyiationsl pall of the Moo
(C)  in adl green parts of planta (T Rotation of the Enrth
(D¥  1m the roMs (D) Bevalution of ke Earth
13X Banana leaves on madurily (car inbo 137, Cil-fires are extinguished by
nbbais o pvedd (A} Soda-acid fire extnguisher
{A)  desicostion LB} Foam-type fire exbnguisher
(B} air resistance {C) Carbon-teirschionide fire
(T} seorching sunlight Rl Sher
D mwiusl shading D} Simply by water
133. The substance which changes from 138, The apparotus used for measuring the
solid w0 vopour stwe a1 mormal heat change is called
simaspherie pressore withoot being (A] Thermomener
liqaeved is (A} Vaolameter
{A) les iCy  Volimeter
{B)  Mercury (D Calonmeter
iC)  Camphor
(0} Bismuth 138, Plaster of Paris hardens by
{A)  commbaming with water
134. Which energy comes from Sun 7 (Bl piving out waler
(A)  Wind energy (C)  giving ot CO,
(B} Thermal enerpy (1} combining with CO,
(C}  Tidal enerpgy
{03 Hydel enerpy 140, German Silver iz an alloy of
(A} Silver and Copper
135. The wngsien wire in colled form in (B} Hilver amd Aleminium
electric bulb hag iC) Copper, Zinc end Nickel
(Al lower meling point and lower My Mickel and Aluminiums
resistance
(By lower melting point und bigher i41l. Wha was ihe name accarded by the
resistanCe Milizary Operation in Kurgil in 1999 7
[T} higher melting point and lower {A)  Operation Pawan
TeiElance (B) Operation Poomalai
@} higher mehing paint and higher (C) Operation Vijay
TN {13  Operation Brasstcks
112 MM 2 M CA-2000-1
—————
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144,

145,
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The flm ‘Slumidog Millionaire' is
hased on ithe book ‘Question &
Anmaer’ writien by

(A} Bhishim Swarup

(B)  Vikas Swanip

{Ch Wimal Swanzp

D Yinay Swatup

The Intermational Hookey Towmament
i which only the lop Eix nations
(judged by their rankings) are invited
b Take par b

(A Chomgpoms Trphy

(B} Aslun Shah Ciup

(£ Warld Cup

D}y Chompions Chollenge Trophy

Panksj Advani hos won the Wodd
Professionol  Billiard Champiosiship,
ZO0M dhefemting in the final

(&Y Geet Sethi

(B} Roberi Frost

(Ch O Agarwal

(O Mike Rossel

To wham dud India beni o Lifi the
OMOC Mebru Cup, 2009 7

1A)  Jupan

1B Somalia

iCr  Syma

(L} Alghanisian

The recipient of the 42™ Jnan Peeth
Avward this year is

iA}  Manohar Shashin

(B) Saiva Vrar Shashin

(Cy K. Koushal Panda

(0 BMahavir Shashtr

1Nz M~ 2

14T,

148

149,

150,

Who bae won the 100 metres sprinds ai
the British Cirand Prix recently 7

(A} Tyson Gray
(B}  Usabn Bl
1C)  kim Colhins
(¥}  Marto Bums

The World Badminton Federation
declimed the Imbaon Shutiler, Saina
Mekvwal, as

(A} The most promising ployer of
20408

{B) The leading player of 2008

(C)  The most populsr player of
Do

(0] The emerging player of 2008

The first sisier from Indin W bhe
conferred  the Sainthood by Pope
Benadici XV w

(A)  Sister Desouza

(B} Sister Mirmala

(Ch  Sister Alphensa

(D) Sesfer Madorana

The ihree coumrses in semol omler
which won the highest number of
Ciold Medals in the Beijing Olympics
b 1L

(A) China, U.5.A, Russia
(B} China U.5.A, Cermany
(C}  Chinn. Genmany. Auklralis

() China, Ausiralis, Canada
CA-2010-1
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FART -1V
NUMERICATL AFTITUDE
151, The hoys of a class are msde 1o stand in 2_
& queve. Amil is stunding wt 15® place 154, Simplified mmﬂi”—"‘l—ﬁ&jiﬁ i
from bech ends How many boys ans
there in the gueue ! $; _:g'?:
W), (C) 40.64
R D) 50,50
[
(D) 28 185, Simpilified valoe of
(0.361F « (0 6397 i
? I52. If the sum of & rstional number and s ¢ D361F-0361: 0,639 + (639
reciprocal is 13/, then the number is (A 1
1 i (B) 3461
(A0 3 {C) a39
i (D 1000
B &
5 156. If the sem of ome-half, one-third aed
iy 3 one-fourth of a number cxceeds the
: mimmber by 12, then ihe number is
5 Al 20
L Z
"6 (B} 144
(Cy 154
153, In a group of stslents; 30 students play B 1
Cricket, 20 play Tennis and |n all 35
ploy either Cricket or Tennis. How 5 _;
many Sudents pluy both Cricket and 151, 327 +32 © s equal to
Tennix T iAy 32
{A) [0 B lﬁ#
(B 12 b
) 15 185
o) 18 o 1
SPACE FOR ROUGH WORK
;
£l 112 MM 2 CA-Z0-1
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5 [" m
158, Ir 2:3‘ and 83 + 5b = 22, ther a is 162, 3‘\/—3 3 is equal to
equal 1o 1
(A) 2 (A) 3%
B) 4 i:'
n
3
(698 + 198)* — (698 — 1987 o) M
159. 498 % 198 s equal to
(A) 2
(B) 163, 33 x 385 %35 -2 x25%25-10x 10 =
10 is equal to
(. mae A} 26.250
(D) 9874 . 3
(B) 17,500
164, The cube root of (€C) 8,750
00270064 +3%0,12%0.7is (D) 0
(A) 0.30
(B) 040 3
€ 0.2 164. /Zﬁ is equal to
(D) 070 :
(A) 3
V32 342 '
i
161, \[5-\/3+\I%£ 15 equal to (B) =
(A) 3464 |
(B) 2.828 © 3
© 1 1
D) 10 ® 13
SPACE FOR ROUGH WORK
112ZMN 2 CA-2010-1
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165. \’7‘,2:h: *'\’7—2:’12 is equal to 169. lhc sum of al even numbers upto 100
15
(A) 4
A) 1000
B) 443 s
: (B) 2000
© (€) 2500
D) 642 (D) 2550
166. The smalkest perfect square number, 1 1 1 1
which is divisible by cach of 2,3, 4, 5 170, T3 ax7* Ixw0° 10 %13 '*
and 6, is “[u‘l to
{A) 600
(B) 840 () 3
© %00 5
(D) 1600 ® 13
3
8 =1 -1 (-2 a
167. [1-2] (l'j) (1-4 (l"g] ...... 3
\ D) 13
1= 100 } is equal to
{(A) -1-12_6 171, The average of all odd numbers jass
) than 10015
B = (A) 49
"l’“ B) 50
©€) o5 C) 51
e @ 52
D) 3
172, A batsmuon has a certain average of runs
for 11 innings played by him. In his
168, The sum of the first 51 terms 2( the 12® innings he scored 90 runs, thereby
anithmetic progression, whose 26™ term decreased his average of runs by 5. His
is 300, i average of runs for 12 innings is
(A) 15,100 (A) 217
(B) 15300 (B) 150
(C) 15500 (C) 145
(D) 15700 (D) 127
J SPACE FOR ROUGH WORK
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173 The sversge of monthly salones of A, B 176 Let us suppose that when waler freezes
and © |4 K=, #0000 and that of B, C im ke form of ice, hHa volume i
amcl T iz Rs. 50,000, If T's monthly imcrensed by IFR.  What percest
sulory is Rs 60000, then A's monthly decsease will there be when los melts in
andary is = the form of waler 7

Ay 10
Al Rs. 0NN
(A) Rs | o
(B) Bs. 40000 i
- © g
(Ch  Rs. 50,000
1
() Rs. GOJHX) oy 9 11

174. The selling price of a ey i 171 I;.:I:‘jE;I:EHMH:C=+:5.m:n
reduced by 155, As o pesull b daily i ia
sple i3 incressed by 30%, Dues o thas (A B:
effect the revese collecied, companed (B) 58
to the previous daily sale, will be cy 7:9
(A) 5% Iy 6:7
(B) 5% lexs ITR. The malio of twa nambers 65 5 ¢ B wnd

5 ther difference 15 6% The smoller of
L e the rwor mambers (8
(0 2.5% less {A) 184
{B) 140
i€y 1%

175 In an examinabion, & stisdent gor WK% Dy 108
marks out of 180 in the first paper of o
sehiject. How meich st be peJo e | oo o or u s i e G
second paper cut of 150 so that he gets : ; :

0% marks in the subloct T 4 ¥ ¢ 2 and their expenditunes in the mstio
' 5 : 3 If esch saves RBa. 10000, A's
(&) 0% income is
(B} Td% (Al Ba 30000
(B} R 40000
iy TE% (Ch R G0N
(D) 80% ) Ra S00
SFFACE FOR ROLUGH WORE
152 MM Z CA=2010-1
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1B A person fook two equal loans for 2 183, Twn successlve discounts of 10% and
years and 3 years respectively each st * 3% are eguivelent to o sanghe discount
&% simple interesi. If ai the end of the of
terms, ihe dafference of interesi v
Rs. 5641, then the amount of each loan (A} 15%
= H) Tl‘ﬁ
l (A} s 7.000 t z
{B) Rs 7,200 . i i) ]I% %
| {C)  Bs 7,500
D} Rs 7,800 D) 143% |

| 181, A sum of monsy = d inee
-} SLHTpMOLE =l
i EE'J:ﬁ 184. The marked price of an article 15 20%

eompeurded half-yealy becomes £z uhove its cost price. If the trader allows
times of itself in one yesr, The rale of 2 discount on its marked price, he
inderest per annam is il e

{Ay 0% (A} 4% profil

B B% (B} 4% loas

iy 6% (C) 5% prafit

oy % () 5% loss

182 A sum of money & compoend isterns 185. A man can complete one-thied of &

amaounis o Bs. WG in 3 years and 1o wonk in 18 doys. How many days will
R Q680 in 2 years. The rte of inlenest he need o complete L5 pam of the
PEF EnEWm i wirk 7 .
(A) 20% {A) 36
B) la% B I7
€ 1% )
D 10% m 2 ]
SPACE FOR ROUGH WORK
02 N 2 41 CA-2070-1 C
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A and B rogether cun do a piece of
work in 12 days, B and C 1ogether in 15
iys urd C and A together in 20 days,
In hovw many daya can A alone do the
T wirk 7

(A) 22

{B] 15

C] 30

(b

A s twice 32 pood a workman as B and
txgathes they complete o plece of work
in 14 days, In bow many deys cam A

1M,

181,

In goang fmom staison A 1o station B, a
distance of [0 knw & imin moves with
speed 40 kenfhr ond in returming hack
from B oA, it rons wilh speed
60 ke, The average speed (in kmvhr)
of the train for the enfire jourmey is

{&) 45

iBY 4B

ic) 30

o 33

A mun walkiag o 3 kmlir crosscs a
equare field diagomally in 2 minubes,

nlone compleie the work 7 The orea {in m?) of the field is
(A] 21 (h) 2500
w) I8 (B} 3000
iCy 30 i 5000
iy 35 () &0
T8E. IF | man or 2 women or 3 bovs can do a 192, A mins twice us fost 33 B and B nme
plece of work in 55 days, in how muany “J{'il:': g5 fast us C. In how many
daye, will 1 man, | woman and | by miines, will the joumey, covered by O
apether do the same work 7 im 42 minules, be covered by A T
(A 4 Ay 36
(B 36 {B1 28
(C) 3 {C1 14
o} 30 oy 7
189, A car compleies a coriud 193 The wotal surface area of & solid
i g e ol oo g hectisphere is 1848 cm?. Its diameter is
40 kmihr and the rest a 60 kmvhe, The [,,H,::EE] :
lengih of the joumney is T
{A) 420 km (A) 28cm
(B) 400 km (B 14+6cm
iC) 384 km () 74fEem
{0} 350 km (M H4em
SPACE FUR ROUGH WORK
12 MN2 CA-2010-1
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194, Each of the mdius of & sphere and that 197. 6% more (s gained by selling o radso for

of the bass of & dght cincular cylinder is
3 em. IF their volumes ore equel, the
height {in cin) of the cylinder is

(A} 4
B 9
<y 12
m 22

The ratés of the area of an equilateral
triangle and that of & square is+/3: 2 If
the length of u disgonal of the square is
60 cm, then the perimeter of (he

tnangle is
{A) 150em
(B 180 cm
{Ch 210em

(¥ 240 cm

The difTerence hetwaen the
circumference and the diameter of &
cirele s 15 cm. The mdius {8 em) of

e circha ilI:Tﬂ;:n; s %jl

Ra. 475, than by selling it for Rs. 451
Thes cost price ol the radio s

(A) HRs 434
(Hy M 400
(0 R 44650
(I} Hs 427.50

By selling an articls for Rs. 255, & man
incore a los of 15%. For wha prce
should be sell it so that he makes o
profit of 20% 7
{A) Rs 275
{C) Rz 375

(B) R B
D) Rs. 360

A production-house sells their items u
2% prafit. If the production cost i
increased by 109, bul the selling price
remalng snaliered, the profit is

1
(A) 97 (B} 10%
<y 1% (D) Ijé'l-

A shop-keeper had 1o sell an articke at
2% loss. He could gain 5%, i he had
sobd the anticle for Bx. 200 mose. The
coal price of the article was

Ay 7
L (A} Rs. 700
{ ; (B} Rs 800
1 33 (C)  Rs. 900
o) 225 D) Rs. 1,000
SPACE FOR ROUGH WORK
112 MN 2 CA-2010-1
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